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Section A {25 x 2 marks = 50 marks)

For. each gquestion from 1 to 20, fouroptions are-given. One of them is the colreet
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on
the Optical Answer Sheet provided.

1. An object P'is brought near a bar magnet and its end marked Z is attracted
to the south pole of the magnet as shown below.

L z| s N|

Object P Bar rmagnet

Based on the information given, object P could be a

A capper rod
23 nickel rod
C. magnet.
(1) Aonly (2)  Band Conly .
(3) A and Bonly (4) A BandC
2. Hassan tried to move the pin from the base of the containers A B CandD

to their brims by pulling a bar magnet along the side of the containers.

Glass Plastic Steel Aluminum
container _ container container container

Hassan fsmd that he could not move the pin in one of the containers.
Which container was it? '

M A 2 B
3) C 4 D



3.

“The diagram below shows 2 horseshoe ma

and D.

gnets with ends labelled A, B, C

When two horseshoe magnets were placed together, they pulled each other.

Which of the following correctl

A
(1) north
{2 south
3 vorth
4 north

When the flask was imme

below, the drop of

B,

y shows the poles A, B, C and D?

c ] D ‘
north south south
south north north
south south
south ' north

rsed in hot water as shown in the experiment

ink in the tube dropped slightly before it rose.

_ Drop of ink

J—Hot water

What could have caused the ink to drop first before rising?

~ {1 Theflask expanded |

[ AN T s -a
98 he watere

{3) The drop of

(4) The glass tube expande

A

irst followed by the air in the flask.
xpanded first followed by the air in the flask.

ink expanded first foliowed by the glass tube.

d first followed by the air in the flask.

{7
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Alvin hangs a piece:of cardboard, with a word wrilten on it in front of a

mirror. . The reflected-image of the word is seen in‘the ‘irforas shown

below.

™~

\ / Cardboard

" LIP :
P \
=

Which one of the following below shows the word as printed on the
cardboard?

(1 1 IP X PIL
(3) -“ cl " ql-l



G.

The diagram below shows the water cycle.

condenses

evaporates

What do the lefters A, B, C and Dinthe boxes stand for?

~_ Rain Water vapour
Water vapour Rain

Water vapour

Kelly added a few tablespoons of sait to a béaker of ice cubes. What do
you think would happen?

1 The temperature of the ice would increase shightly.

(2) The ice would not melt until all the sait has been dissolved.

)] The salt interacted with the ice causing it to melt more quickly.

(4) The salt would absorb heat from the ice causing it to melt more slowly.

- Each one of the following options : shows the names of three plants,
classified according to the parts of the plant that are usually eaten. In which
of the following options is the classification correct?

[ Onmion |

Potato
Ginger

Sweet potato

{e
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RS

Wei.. Ming-set: up- an experiment using'{wo cardboard boxés, P and Q.
A heaker-coniaining - liquid X is put into each box. Both boxes are then
covered with a piece of cardboard.

“Liquid X is red. It turns yellow when the amount of carbon dioxide increases.

He then placed a small potied ptant in box P. The next day, he noticed that
the beaker of liquid X in box P had turned yellow while the beaker of liquid X
in box Q remained red.

potied plant __| '}P;é

cardboard
covers

cardbhoard boxes

o liquidX ____ ——t—

P Q

What had happened to cause the beaker of liquid X in container P to turn
yellow?

(1) The plant had respired.

(2) Evaporation had taken place.

(3) The plant had photosynthesised.

(4) Carbon dioxide had entered the container.

Which one of the following diagrams shows the exchange of gases'
~ between living things and their environment ali the time?

(1 (2)

Carbon Carbon
/’ dioxide ™ /’ dioxide ‘\
Animals Piants Animals Plants
\g()xygen/ kOxygen—/‘
(3) ' (4)
Carbon : Carben
'/ dioxide \ / dioxide 1\
Animals Plants Animals Plants
A
\*Oxygen*/ \*Oxygen—/
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" Study the two processes in the table below.

-

Raw materials
needed

Products

N —

Which of the following correctly represents A, B, C and D?

f_m__ﬂ_&ﬂ_-,,@,]___g___ﬁ_ﬁgr____
(1) | Carbon dioxide Qxygen Food Carbon dioxide
Water Sugar Oxygen Water
] I -
(2) Oxygen Carbon dioxide Oxygen Carbon dioxide
Water Sugar Water Food
N
(3) | Carbon dioxide ‘Food Oxygen Carbon dioxide
Walter Oxygen Water Sugar
(4) | Carbon dioxide | Carbon dioxide Oxygen Oxygen
Water Water Sugar Sugar




12, Four pupils made some statements on the process of respiration as shown
’ below. .

Energy and carbon
dioxide are produced
during respiration.

Respiration is the
process of convering
glucose into usable
energy for life
\7/ processes.

Steven

Energy is sTored\

during respiration.

Ai Ling

Water and glucose are
produced during
respiration.

Kumar

Fauziah
L [

Who had made the correct statements about respiration?

(2) Fauziah and Kumar

(1) Steven and Kumar
4) Fauziah and Ai Ling

(3) Steven and Ai Ling

A



13. Study the flow chart beiow carefully.

Yes Does it produce Yes

edible fruits?

Does the plant
pear flowers?

No

|

s its fruit -
- ‘gcattered by

Does it
reproduce

from leaves?

~ Which one of the following plants has peen classified correctly as A, B,
and D? N o

T A B 1o |
[~ | Bryophyltum
e | Moss m
= Begonia
African Violet

C

70
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16.

Sheila found a fruit as shown below in her garden.

She examined the fruit and concluded that it is dispersed by water.
What is the characteristic of this fruit that helped Sheila to make this
conclusion?

(1)  big and juicy {2) fibrous husk
(3) wing-like structure (4) tiny bristie hairs

Sundra planted 4 pots of different types of plants W, X, Y and Z each in his
garden. He counted the number of male and female flowers of each plant
and recorded it in the table below.

Number of male flowers Number of female flowers
| Plant W 0 7
Plant X 2 4
Plant Y 4 0
Plant Z 5 1

Assuming there is no cross pollination taking place, which of tte above
plant(s) isfare able to bear fruits?

(1) Plants X and Z only (2) PlanisW and Y only
(3) Plants W, X and Z only (4) PlantsW, X, Y and Z



16.

The diagram below shows a pa

@ .4 )are growing.

e

A

How are the fruits or seeds of each type of plant most likety dispersed?

A

A istand:

- ]
A ‘

]
(1) Water

R —
(2) Wind

A
3 Splitting action

I
(4) Animals

.

11

i of an island where two types of plants

77
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 The following diagram. shows the different stages in the life cycle of a
flowering plant.

P

A
Flowers ———— Fruit ————» Seed

B

Adult
plal:;t -« Y;our;g +«——— Seedling
plan

R

What are the processes taking place at A and B?

B
Pollination and fertilisation
Seed dispersal
Germination
Germination

oA
- Germination
(2¥| Pollination and fertilisation
Seed dispersal
Pollination and fertilisation |

B¥




Taulfik wanted to test if bees are attracted to sugar solution. He used 2
different coloured flowers made of silk in his experiment and sprayed some
of theri with: 10cm? of 'sugar solution. Which set-up should he use for his
experiment?

(M)
Pink = Pink
|
flower _| “ flower
with } with NO
sugar X sugar
solution i solution
{__ -
2)
Pink Pink
fiower flower
with with
sugar - sugar
solution sotution
(3)
Fink White
ﬂgwer flower
with with NO
sugar sugar
solution solution
- _
(4) 5K
Pink (0 White
flower | ‘ ‘\1 . flower
_‘;V“gar _ i with
u | sugar
solution i solution
l___ ’ i

13 .



19. the diagram:below shows a potate plant.

soil

How does K obtain its food?

(1)  The food is made by K itself.

(2)  The food is transported from J.

(3} The food is absorbed from the soil.

{4) The food is transported from the leaves.

20.  Which one of the following groups of living things obtains its energy directly
from plants only?

(H deer, butterfly and duck

(2)  goat, caterpillar and squirrel

(3)  rabbit, cow and praying mantis

(4)  pitcher plant, zebra and earthworm

24, Which of the following systems breaks down food into the simplest form and
transports it to all parts of the body?

A Digestive system’
B Circulatory system
C Respiratory system

(1) Aonly (2} B only
(3) AandBonly - (4 A, BandC



22.

23.

24.

\Which of the following statement(s) about saliva is/are true?

A Saliva helps to digest food.

B Saliva makes it easier for us to swallow food.

C Sativa helps food to be absorbed in the stomach.

(1) Aonly (2) AandBonly
(3) BandConly (4) A,BandC

What is the function of digestive juices in our digestive system?

(1) Makes food soft _

(2)  Produces energy from fo0u

(3) Breaks down food into simpler substances
(4)  Transport food to various patrts of the body:

Tian Yu wanted to find the diet of 4 animals, A, B, C and.D. He placed the
animals into 4 cages and a certain amount of leaves, apples and meat in
each cage. After 2 hours; he measured the amount of food left in the cages.
The table below shows the results of Tian Yu's observation.

Animals Leaves Apples ‘Meat B
A o 15¢ #—zr _ 19g o
- -

B 209 '* ( 10g 159
B S

C 20g it 14g 209
| I A

D 189 - 16g 20g
\ [ A S I

Which variable must he keep constant in all the 4 cages for this experiment?

(1) Typeof animais

(2)  Size of the cages
(3)  Type of food in each cage
t4)  Amount of food before the experiment ' 46

15



25.. . - The.graph below shows the amount of undigested tood in Lily's digestive
system. ‘

Amount of
undigested food

Parts of the
Digestive
System

Mouth Gullet Stomach Small Large
intestine intestine

What can you conclude from the graph above?

&) Digestion starts in the stomach.
(2) Digestion ends in the large intestine.
{3) Digestion does not take place in the gullet and large intestine.

(4) Digestion takes place in the mouth, gullet, stomach and small
intestine.

18
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Section B (30 marks) _
Write your answers to questions 26 to 36 in the spaces proviaca.
Marks will be deducted for misspelt key words.

26.  Azizah was given a bar magnet and a metal rod by her teacher.
She was asked to find out if the metal rod was also a magnet.

Bar magnet Metal rod

Describe below the steps she should take to find out if the metal rod was
also a magnet. (2m)

Step 1:

Step 2:

Step 3:




o7 A gylinder is arranged in two different ways in front of a light scurce as

shown below 10 cast wo different shadows on the screen..

-

Light source Light source i

Screen

Screen

Set-up A Set-up B

up A different from that formed in

(@) Howis the shadow formed in set-
(1m)

set-up B?

(b) Give a reason for your answer in (a).

19
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28, Suir shone a:torchal an object from three different directions A, B and Cas

below.
String A Screen Y
//’
Scieen Z
B
C
e Ny
/
Screen X \—'—’ :

a) - Draw the shadows, as seen by Sufri when the torch was shone in the
directions A and B, in the table below. The shadow Sufri saw for
direction C has been drawn for you. (Z2m)

[ Direcion | Shadow on Screen X B
A
Shadow on Screen Y ]
B
B Shadow on Screen Z i _ j
C

b) What is the important property of the material that the object is made
of for formation of shadow? - im)




29. The diagram below shows a sharp benc along a 2-wav road.

direction
of travel
\ direction
of travel
Mirrors B
(a)  Which micror, A, B, C or D, will enable motorists at X and Y to see
each other before they meet? (1m)
(by Explain how the mirror enables motorists to see each other before
they meet. '
(1m}

(c) State the property of fight which allows this set-up t© wortkK.



{

planted maize

NG
A

young plant appears

(a)

(®)

(c)

(d)

30 - The diagram below shows the growth of a maize see,d,r

first leaves

first leaves appear

Fill in the blanks below. (1m)
in germination, the part that grows out from the seed first is the

followed by the

Where does the seedling get its food from? : (1m)

At which stage is the maize plant able to make its own food?  {1m)

List the 3 conditions that are necessary for the germination of the
maize seed. _ {tm)}



31, Study the family tree below.

" Denise Jim
(a) How is:Jim refated to Denise? (1m)
(b) Itis observed that if only 1 parent could roll his or her tongue, all their

children could roll their tongues.

Based on the above family tree, in the first and second generations,
only two males could roll their tongues. How many people in the
family tree can roll their tongues? (1m)

23



32.  Observe the pictures below caretuny..

(a)

(b)

(c)

(d)

stigma

R N it » Lo
et e e 4 i B i ‘. i
g™ GRS e,
o e o

Flower A Flower B

Based on the pictures above, state one similarity between Flower
A and Flower B. (tm)

Slale one aiiierence pemween ine wo species- o1 HOWers.

(Do not compare size or shape} (1m)
Whiqh species of flower is most lixely 10 pe wing-polinated? (1m)
Give a reason for your answer in (C). (1m)

24
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The diagram below shows & fcod web.

/ -———"Chicken
Fox ' :

Plant

" Earthworm

Based on the food web above, state 2 complete food chains.

()

(i)

(2m)

25



24 J, K, L, and M represent. 4 different groups of organisms. Their food
relationships are shown below:

« Group J has chiorophyll.
. « Group K feeds only on Group J.
f- . e Groupl fecds on Groups J and K.
g « Group M feeds on Groups K and L.

(@  Which group of ofganisms represents an omnivore? (1m)

(by Labeitne groups J, K, L and M in the box below to show the energy
transfer between the organisms above. (2m)

|

26



35!

Nurul wanted to.find-out the suitable living conditions. for organism P She
used-a tray consisling of two parts, A and B as shown below. She filled part
A with dry soil and part B with wet soil.

She placed a number of organisms, P, in the middle of the tray in the area
marked “X”. After two hours, most of the organisms P were found in part B.

(a)

(b)

Based on the resuits, state the living condition suitable for organism
P {imd

Organism Q can survive we'l in dry soil. Nurul predicts that organism
Q may prefer dark conditi,ons.'

Given a piece of black cloth and an identical tray with dry soil, how
can she carry out an experiment o find out if organism Q prefers dark

‘conditions? : (1m)

27



36.  Study the following line.graph.

Number of animals

90
8¢
70
60

o X o

10 —o

0 1 RS AR C 3

2001 - 2002 2003 2004 2005 2006

Year
‘(a)  What was the number of predators recorded for 20037 (1my})
(B) ‘ ' prey increased even though
‘the number of predators also increased. Give a reason why this
could have happened. (1m)

‘)  Over these 6 years, there was a period of drought. Which period did
the drought occur? : (1m)

e END OF PAPER

Setters: Mrs Nancy Lum
Mrs Tan Yoke Cheng

28



Nanyang Primary School

Primary 5 Science CA2 Exams {2007)

SECTTON A : (60 MARKS)

~ Qnno. Ans | Qnno Ans Qn no. CAns
] 2 B 11 1 21 3
2 3 1 12 3 22 2
3 3 i3 2 23 3
4 1 | 14 2 24 4
5 4 R 1 | 25 3
o 2] 16 2
7 3 17 4
8 3 18 1
9 | 19 4
10 2 0 2
SECTION B (40 MARKS)
26. Step 1) Put the magnet near to the metal rod.
Step 2) Try using the north and south pole of the magnet to attract one end the metal
rod.
Step 3) if one of the ends make the rod and the bar magnet repel , the metal rod is a
magnet.
27a. The shadow of the cylinder that appeared on the screen of set-up A would be bigger
than the shadow of the cylinder in set-up B
27b. The shadow of the cylinder in set-up A is bigger because the nearer the light source is
to the cylinder, tbe bigger the shadow of the object it will be.
28a. [
A f B:
28h. The material must be epaque. L
29a. Mirror B
29h. The reflect of X will appear on mirror B when e is pear the curve and when Y is
pear the curve, his reflection would also show on the mirror so both of them can see
each other before they meet.
29c¢, Light travels in a straight line.

Page tof 1




30a.
30b.
3¢,
30d.

3ia.
31b.

32a.
32b.
32

33 (i)
33 (i)

34a.
34b.

35a.
35h.

36a.
36b.
36¢.

Root, shoot

The seedling gets its food from the seed leaves.

1t is at the stage where its first leaves appear.

The three conditions are oxygen, warmth and water.

Jim 1is Denise’s cousin.
7 people.

Flower A and B both have stigmas.

Flower A has many petals but flower B has only one peial

The hanging stigma and anthers allow the pollen grains te be casily pollinated by
wind.

Plant —— chicken -+ fox.
Plant ——» earthworm —— chicken - fox.

Grounp L.

b) ¥

)

The living condition for organism P should be wet or damp.

Use the black cloth to cover half of the tray, and place Q in the middle of the tray, if
Q prefers dark conditions it would have been found in the side of the tray that was
covered by the cloth.

The number of predators recorded for 2003 is 30.

The preys reproduce faster than the predator.
It occurred from 2004 to 2095,
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